Math 135 — Intermediate Algebra

Homework 5 — Solutions

November 7, 2007

5.1: Problems 9-25, 33-55, 61-73 |

9. terms: 5x2, —x2, —6x, 7; coefficients: 5, —1, —6, 7

11. terms: 4n, — coefficients: 4,

?a
13. terms: 3a?, —8ab, 5b%; coefficients: 3, —8, 5
15. Polynomial of degree 3

17. Binomial of degree 2

19. Trinomial of degree 4

21. Monomial of degree 5

23. —322 + 97z + 2; leading term: —3z2

25. 52° + 82* — 22° — 2 + 10; leading term: 52°
33. —222+ 10z -9

35. 3n® +n%+2n

37. —62* —

1,2, 9
6" T3

39. 222 -7 +6

2(2)2 - 7(2) +6
8—14+6 = 0

2(—=3)?—17(-3)+6 =
18+21+6 = 45

41. 8% — 422 — 2+ 7

@)
(3)-)-)

27—-9-3+7 = 22

—1-1+147

Il
o

43.
3 +9+222 —dx+1=

222 + 3z —4z) + (1+9) =
222 — 410

45,
(a® —5a® +3) — (5a*> +a—3) =
a®—5a®>+3—-5a>—a+3=
34+ (-5a®—5a®)—a+ (3+3) =
a®—10a* —a+6

47.
(3z* — 72 4+ 2% + 82 — 10) + (82® — 1) +
(10 — 9z — 72° + 2*) =
)

) =

+

(—72° + 82°) + (2* — T2?
(8x —9z) + (10— 1410
drt + 23 — 622 —x — 1

(3z* +2*) +

49.
(12p° — 2p® + 4p* — 11p) —
(13p° +p* +2p° = 3p* = 11p—1) =
(12p° — 13p°) — p* + (=2p° — 2p°) +
(Ap? +3p*) + (—1lp+11p) +1 =
—p° —pt —4pP + TP + 1

51.

(% + 5y + 6y%) + (92%y — 22y — 3zy + 2% —y
2

2

+

(222%y — 12zy

922y + 22%y) + (=2xy® — 1229°) + (2 + =
(5zy — 3xy) + (6y° — °

1122y — 14zy® + 222 + 2zy + 512

+

)
)
%)
)

53.
—y® =3y +dy

+ 6y°  +8y* -3y +2

+5y°  +by? 4y +2
55.



4 _ 2 _
3p 2p ) 1.
- +p? —10p 421
R(n) = 18n+ 3.5n% —0.005n°
3p*  —3p* +10p 26 R(100) = 18-100+ 3.5-100% — 0.005 - 100°
61 = 1800 + 35000 — 5000
(322 = Tz 4 5) — (5z — 8z%) + (2 + 62 — 92%) = = 31800
(322 +82% — 92?) + (~Tz — 5z + 67) + (5 +2) =
222 — 62+ 7 73.
63. (8t* — 823 + 245t% — 303t + 38, 387) + (25t + 93t + 14,783) =
(12n° +16) — (11n° — 9n® + 3n+8) — (~10n — 13) = g4t _ goy3 1 (24512 4 25¢2) + (—303¢ + 93t) + (38,387 + 14,783) =
(120 = 110°) + 9n® + (=3n + 10n) + (16 + 13 = 8) = 8t4 — 82t3 + 2702 — 210t + 53,170
n3 4+ 9n* 4+ Tn + 21
o \5.2: Problems 1-19, 29-49, 67-77, 101, 103, 109-115\
f(z) +g(z) = 1.
(22° —8) + (22° + Tz +5) = (6n%)(=5n®) = (=5 6)(n® - n?) = —30n°
(222 4+ 222) + T+ (-8 +5) =
3.
42® +Tx -3
Y (=3r2)(=9r%1) = (=3 - =9)(r - 1*)(¢ - 1) = 6r*¢?
f(z) —g(z) = 5.
(202 —8) — (22 + Tz +5) = (102°)(—2%)(—22*) = (10 =1 =2)(z° - 2% - 2*) = 202"
(222 —22%) — Tz + (-8 —5) = .
—rro 1 (=3pr)-2p%¢-¢* = (=3-2)(p p*)(q- ¢*)r = —6p'¢’r
67. 9

(—4ab®)? = (—4ab®)(—4ab®)(—4ab®) = —64a>b'®

f(@) +g(z) =

(=52t + 62° — 3) + (42* — 32° + 222 — z) =

(52t + 42t) — 32® + (622 +22%) —x — 3 =
—2* —32% + 827 —x — 3 13.

(4n?)(6n) + (4n?)(—1) = 24n3 — 4n?

11.
(—2z)(5) + (—2x)(—4x) = —10z + 82

f(@) = g(z) = 15
4 2 4 3 2 _ .
(=527 + 62" — 3) — (42" — 32° + 22" — ) = (=32)(22) + (=32)(—4x) + (=32)(5) = —323 + 1222 — 15z
(—5z* — 4z") + 32° + (62% — 22°) — 2 — 3 =
—9z* + 323 + 42 + 2 -3 17.
(3n?)(12m?) + ($n?)(8n) = 6n3m? + 4n*
69. L.
o h(t) = —16t* + 520 (72°)(4zy?) + (—42%)(da?y*) + (1) (4a?y?) =
0: —16- 0%+ 520 = 520 282"y" — 162y + da’y!
. 2 _
1 —16-12 4520 = 504 29,
2: —16- 22+ 520 = 456 (r+2)(z+4)=

22 +4r+2r+8=
3: —16- 3%+ 520 = 376 22 1 6x 48



31.

33.

35.

37.

39.

41.

43.

45.

47.

(n—6)(n—3)=
n? —-3n—6n+18 =
n?—9n+18

BG-—a)a+T7)=
5a+ 35 —a’ —Ta =
—a®>—2a+35

(y+7)7 =
(y+7(y+7) =
V4 Ty+Ty+79 =
y? + 14y + 49

2z —1)(z+4)=
22 +8c—x— 4=
262 + T — 4

(3—2x)(2+3z) =
6 + 9 — 4z — 62° =
—622 + 51+ 6

(52 4+ 3)(6x +5) =
3022 4 25z + 18z + 15 =
3022 + 43z + 15

(4r —9)* =

(4x —9)(4z —9) =

1622 — 36z — 362 + 81 =
1622 — 72z + 81

(a — b)(2a + 3b)
2a° + 3ab — 2ab — 3b° =
2a® + ab — 3b?

(9p + 10q)(2p — q) =
18p® — 9pq + 20pq — 10¢* =
18p? 4 11pg — 104>

49.
(Tx — 11y)(8x — Ty) =
5622 — 49zxy — 88xy + TTy? =
5622 — 137xy + 77y2
67. t2 — 100

69. 22 + 16z + 64
71. 16n%> -9
73. 4n? — 20n + 25

75. b2 — %ab—i— %aQ

77. 2522 — y?
101.
(322 —1)(5z +2) =
1523 + 622 — 5x — 2
103.
22 +7x -3
2 —6x

—6x° —4222 18z

zt 72l —3z2

zt 428 —45z%  +18z

109. pVs —pWy
111.
.
(6 +z)(12+z) =
724 62 4+ 122 4 2% =
22 4+ 18z + 72
b.

(22 +182 +72) — 72 =
2 + 18z

113.
a. Longest panel: (z + 0.1) inches by (z + 0.1) inches.
Shortest panel: (z — 0.1) inches by (z — 0.1) inches.



(x+0.1)2 — (z—0.1)2 = 23. see attached

(2% +0.22 4 0.01) — (* — 0.2 +0.01) =
0.4x

25. see attached

27. see attached

115. 39. see attached
Volume = length - width - height =
(18 — 27)- (12 — 22) -z = 51.
— —24 4 2\, — a.
(216 — 36z — 24z + x,j T 7.95+0.05z  7.95
216z — 60x° + 4x — =——+0.05
x x
b. z is the number of monthly minutes, and 5 hours of
5.3: Problems 1-15, 21-27, 39, 51, 53 ‘ calls is equal to 5 - 60 = 300 minutes, so z = 300.
7.95
1. —— 4 0.05 = 0.08 = 8 cents
6t 6 ot 300
x
23_5'—3—3I473 3z
v v 53.
a. see attached
3. b. see attached
20y° 20 y° 5-3 2
=—-==-5 5
T4y T 4B Yy Yy
5.
—9z5y? _ -9 fE_B ] fU_2 = 3257 1y21 = 32y
—3zy -3 z vy
7.
62° + 922 62° 922 9
—_— =t — =2 3
3x 3x + 3x T
9.
24n3 — 10n2 + 4n _ 24n3 n —10n?2 n dn 6n® + 5 4
—4 Ty Ty Ty Tt o
11.
54a® — 6a* + 36a®  54a® —6a* 3643
= =94 —a+6
6a3 6a3 + 6a3 + 6a3 @t
13.
16t% +10t3 — 18¢2 —8¢t 16t 1062 —18t2 -8t
= + + + =
—2t2 —2t2  —2¢2 —2t2 —2t2
9 4
—8t* —5t+9+ n
15.
8p® —16pqg +28¢>  8p®>  —16pg  28¢>
4q>  4q? 4¢> 42
2p? 4
w
q q

21. see attached
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